Coordinate system challenge 1	


Due: start of class, Monday, September 16. 


At the bottom of the page, you’ll see an XKCD cartoon. If the Star Trek reference is totally lost on you, Scotty (Mr. Scott) was in charge of the transporter on the Starship Enterprise. The transporter beamed people down from the Starship to the surface and vice versa. So the view in both panels of the cartoon are of the transporter room on the Enterprise, and the Captain is the person standing on the transporter with the tricorder in his hand. The “away team” would have been on the surface of the planet below waiting for the Captain to beam down.

Here’s a video of the transporter in action: https://www.youtube.com/watch?v=jDFI87zn9t0 

Explain why the Captain’s predicament could be a coordinate system issue.

· [bookmark: _GoBack]5 points for a correct answer that explains in a way that is detailed and complete enough that I can tell that you actually understand what the coordinate system issue is and specifically why it could have resulted in the Captain being stuck in a wall.
· 3 points if your answer is correct but perfunctory, i.e., it’s an accurate statement but it’s not explained well enough for me to tell whether you actually understand the statement you made.
· 1 point if there are some correct aspects to what you’ve said, but it’s mostly wrong.
· 0 points if you’re off in left field entirely. 
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